Comprative Statement



Comprative Statement Showing the Comprassion of Rates for (Package No.1) Procurement of Abkalani Material for the year 2017-2018 Farash Sub Division

					RATE Q	UOTED	BY TH	E CONTR	ACTORS	•	W.	
				1st			2nd			3rd	7	
S#	Particular	Qty	Qty Syed Akhtar Huss		sain Shah	Mr. Goind Ram			Mr. Rasheed Ahmed Soomro			
			Rate	Unit	Amount	Rate	Unit	Amount	Rate	Unit	Amount	
	(Package No.1) Procurement of Abkalani Material for the year 2017-2018											
1	Cutting and Supplying Brush wood from canal plantation or from other source within one mile	20000 Cft	980	%Cft	196000	1000	%Cft	200000	1100	%Cft	220000	
2	Supplying Coir Rope 1/4" thick (Superior)	100 Kgs	190	P/Kg	19000	198	P/Kg	19800	215	P/Kg	21500	
3	Supplying Coir Rope 1/2" thick ^Superior)	95 Kgs	190	P/Kg'	18050	200	P/Kg'	19000	250	P/Kg'	23750	
4	Supplying Coir Rope 1" thick (Superior)	95 Kgs	190	P/Kg	18050	205	P/Kg	19475	225	P/Kg	21375	
5	Supplying Nylon Rope 1/4" thick (Superior)	50 Kgs	170	P/Kg	8500	178	P/Kg	8900	190	P/Kg	9500	
6	Supplying Nylon Rope 1/2" thick (Superior)	45 Kgs	180	P/Kg	8100	186	P/Kg	8370	195	P/Kg	8775	
7	Supplying Twin (Superior)	100 Kgs	210	P/Kg	21000	215	P/Kg	21500	220	P/Kg	22000	
8	Supplying Munj Rope (Superior)	90 Kgs	425	P/Kg	38250	440	P/Kg	39600	450	P/Kg	40500	
9	Empty Gunny Bags 2nd Bharti	1500 Nos	65	Each	97500	62	Each	93000	70	Each	105000	
10	Supplying Peshwan (Red) Superior	45 Kgs	120	P/Kg	5400	135	P/Kg	6075	140	P/Kg	6300	
11	Supplying Basket Medium Size	150 Nos	85	Each	12750	95	Each	14250	100	Each	15000	
12	Supplying Torch Cell Superior	30 Dozs	260	P/Doz:	7800	280	P/Doz:	8400	300	P/Doz:	9000	
13	Supplying Needle Large Size	35 Dozs	115	P/Doz:	4025	128	P/Doz:	4480	135	P/Doz:	4725	
14	Supplying Bulbs for Torches	20 Dozs	235	P/Doz:	4700	250	P/Doz:	5000	280	P/Doz:	5600	
15	Supplying Reed Mates Size 10' x 5'	60 Pairs	245	P/Pair	14700	265	P/Pair	15900	270	P/Pair	16200	
16	Supplying Reed Patles Size 16' x 6'	60 Nos	250	Each	15000	265	Each	15900	280	Each	16800	

A Min

w/

iv-el i		- 1, 400	RATE QUOTED BY THE CONTRACTORS.									
				1st			2nd	1 1 2 3		3rd	~	
S#	Particular	Qty	Syed Akl	ntar Hus	sain Shah	Mr. Goind Ram			Mr. Rash	Mr. Rasheed Ahmed Soomro		
			Rate	Unit	Amount	Rate	Unit	Amount	Rate	Unit	Amount	
17	Supplying date mat size 6' x4 '	150 Nos	130	Each	19500	150	Each	22500	175	Each	26250	
18	Supplying Munjandri Panjar Girth 4" to 6" 12' Long	400 Nos	415	Each	166000	425	Each	170000	465	Each	186000	
19	Supplying Lai Panjar 10 to 12' long	300 Nos	380	Each	114000	415	Each	124500	450	Each	135000	
20	Supplying Genrator on hire basis I/c POL	30 Days	2500	P/Day	75000	2550	P/Day	76500	2600	P/Day	78000	
21	Supplying Kerosene Oil (16 litter tin)	35 Tins	1550	P/Tin	54250	1575	P/Tin	55125	1590	P/Tin	55650	
22	Supplying Diesal Pumps of 10 cusec capacity for evacuation of water on hire basis i/c POL.	40 Hours	1750	P/Hour	70000	2200	P/Hour	88000	2500	P/Hour	100000	
	TOTAL:-				987575			1036275			1126925	

Certified that the entries incorporated in the comparative statement individually have been made correctly. The rates quoted by Syed Akhtar Hussain Shah Government Contractors are lowest and reasonable.

DIRECTOR

Vara Canal Area Water Board (SIDA)

MIRPURKHAS

Member

Chairman

(Asif Masood Memon) **Deputy Director**

National Highway Authority

Hyderabad

(Ashfaque Nooh Memon)

Executive Engineer

The bower value gent by the That Division Isolar's up & k. 250001: andersoy approvid. Mirpurkhas **Thar Division**

Eutsjed A the Condition that thereigh mem included in Scholule of rales.

Draiange Division Mirpurkhas

(Shoaib Ahmed Sugrio)

Executive Engineer

Member

Managing Director e Authorky

Hyderal

Sand Irrigation & D.

Drainage Authority

BID EVALUATION REPORT

1	Name of Procuring Agency	Executive Engineer Thar Division Mirpurkhas
2	Tender Reference No.	Invitation of Bid No.SKP/G-148/TD/1052 dt:14/09/2017 and Corrigendum issued vide No.SKP/G-148/TD/1105 dated:28/09/2017 Farash Sub Division (Sr.#34450)
3	Name of work / Package	(Package No.1) Procurement of Abkalani Material for the year 2017-2018
4	Method of Procurement	Single Stage one envelop procedure.
5	Tender Published	Daily Newspapers published in Daily News, Akhbarenau (Urdu), Bakhar (Sindhi), Latest News (Urdu) as well in SPPRA web site
6	Tender Bid Documents Sold	3 Nos.
7	Total Bid Received	3 Nos.
8	Technical Bid Opening Date	12/10/2017
9	No. of Bid Technically Qualified	3 Nos.
10	Bid Rejected	No any Bid rejected

S.#	Name of Firm / Bidder	Cost offered by the Bidders	Ranking in Terms of Cost	Comparison with Estimate	Reasons for Acceptance / Rejection	Remarks
1	2	3	4	5	6	7
1	Syed Akhtar Hussain Shah	987575/-	1 st	Within Estimate Cost	1 st Lowest	Lowest Hence Accepted
2	Mr. Goind Ram	1036275/-	2 nd	Higher rate quoted	2 nd Lowest	Rejected
3	Mr. Rasheed Ahmed Soomro	1126925/-	3rd	Highest rate quoted	Higher	Rejected

12/10/2017

MEMBER

Financial Bid Opening Date

11

MEMBER

CHAIRMAN

(Asif Masood Memon) **Deputy Director** National Highway Authority Hyderabad

DIRECTOR

Sasa Canal Area Water Board (SIDA) MIRPURKHAS

(Shoaib Ahmed Sugrio) **Executive Engineer Drainage Division**

Mirpurkhas

(Ashfague Nooh Memon) **Executive Engineer**

Thar Division Mirpurkhas

Poss Evaluelon liposis lens of appoin-

Technical Officer Sindh Irrigat ion & Drainage Authority

Managing Director Sindh Irrigation & Drainage Authority

Hyderabad.

NIT No.SKP/G-148/TD/1052 dated: 14/09/2017 (Farash Sub Division).

Method and Procedure of Procurement:

Open Competitive Bidding (National Competitive Bidding) (Single stage one envelope).

Description of work:

(Package No.1) Procurement of Abkalani Material for the year 2017-2018.

Name of Bidder:

Syed Akhtar Hussain Shah

BIDDERS ELIGIBILITY / QUALIFICATION REPORT

Eligibility / Qualification Criteria:

S.#	Eligibility / Qualification Criteria	Syed Akhtar Hussain Shah	Mr.Goind Ram	Mr.Rasheed Ahmed Soomro
1	Registration with PEC (if applicable)	NA	NA	NA
2	NTN	Yes	Yes	Yes
3	Registration with Tax Authorities	Yes	Yes	Yes
	Qualification Criteria	y ₆ 1		
1 4	Minimum three years' experience of relevant field	Yes	Yes	Yes
5	Required Bid Security is attached	Yes	Yes	Yes
6	Qualified / Disqualified	Qualified	Qualified	Qualified

Member

(Asif Masood Memon)

Deputy Director
National Highway Authority

Hyderabad

Chairman

on)

(Ashfaque Nooh Memon)

Executive Engineer
Thar Division
Mirpurkhas

Member

(Shoaib Ahmed Sugrio)

Executive Engineer Draiange Division

Mirpurkhas

Comprative Statement

Comprative Statement Showing the Comprassion of Rates for (Package No.2) Engaging of Machinery Likewise Tractor Trolly dully filled with earth and provided at site of work Excavator Chain Type / Wheel Type & Tractor with front & rear blade on hire charges basis i/c POL for execution of widening / deweeding work, raising & strengthening banks filling depresson & strengthing, and De-silting work at Main Canals and at distries / resectioning of distries as mentioned in the Techenical sanctioned as per site requirement for routine and for emergency requirement for the year 2017-2018 Farash Sub Division

				P.	R	ATE QUOTE	D BY THE CO	ONTRACTOR	S.		
S#	Particular	Qty		1st			2nd			3rd	
3#	Farticular	Qty	ı	/Ir. Goind Ra	m	M/S Shal	nbaz Constru	ction Co:	M/S	Data Enterp	rises
			Rate	Unit	Amount	Rate	Unit	Amount	Rate	Unit	Amount
	(Package No.2) Engaging of Machinery Likewise Tractor Trolly dully filled with earth and provided at site of work Excavator Chain Type / Wheel Type & Tractor with front & rear blade on hire charges basis i/c POL for execution of widening / deweeding work, raising & strengthening banks filling depresson & strengthing, & De-silting work at Main Canals and at distries / resectioning of distries as mentioned in the Techenical sanctioned as per site requirement for routine and for emergency requirement for the year 2017-2018										
1	Tractor with front/ rear blade on hire charges i/c POL	1125 Hours	1550	P.Hour	1743750	1575	P.Hour	1771875	1595	P.Hour	1794375
2	Tractor with Trolly on hire charges i/c POL dully filled with earth & providing at site of work	1580 Trolley	1835	P.Trolley	2899300	1850	P.Trolley	2923000	1870	P.Trolley	2954600
3	Engaging wheel type Hydraulic Excavator i/c POL on hire charges	5750 Hours	3000	P.Hour	17250000	3120	P.Hour	17940000	3145	P.Hour	18083750
4	Engaging Chain Type Excavator i/c POL on hire charges	2265 Hours	3575	P.Hour	8097375	3625	P.Hour	8210625	3700	P.Hour	8380500
	TOTAL:-				29990425			30845500			31213225

Certified that the entries incorporated in the comparative statement individually have been made correctly. The rates quoted by Mr. Goind Ram Government Contractors are lowest and reasonable.

The Laws reats approved by Contractor are recommonded for Kind approval.

Member

Chairman

DIRECTOR

MacDanal Area Whiter Buard F MIRPURKHAS.

(Asif Masood Memon)

Deputy Director

National Highway Authority

Hyderabad

(Ashfague Nooh Memon) **Executive Engineer**

Thar Division

The Lower rates goth by the Mirpurkhas

Asilo's up h k: I soot one hereby approxi.

outset to the condition that their from are

and in schedule of rates:

Member

(Shoaib Ahmed Sugrio) Executive Engineer

Draiange Division

Mirpurkhas

BID EVALUATION REPORT

Name of Procuring Agency

Name of work / Package

Method of Procurement

Tender Bid Documents Sold

Tender Published

Total Bid Received

Executive Engineer Thar Division Mirpurkhas

2 Tender Reference No.

3

5

6

7

Invitation of Bid No.SKP/G-148/TD/1052 dt:14/09/2017 and Corrigendum issued vide No.SKP/G-148/TD/1105

dated:28/09/2017 Farash Sub Division (Sr.#34450)

(Package No.2) Engaging of Machinery Likewise Tractor Trolley dully filled with earth and provided at site of work Excavator Chain Type / Wheel Type & Tractor with front & rear blade on hire charges basis i/c POL for execution of widening / deweeding work, raising & strengthening banks filling depression & strengthening, & De-silting work at Main Canals and at distries / re-sectioning of distries as mentioned in the Technical sanctioned as per site requirement for routine and for emergency

requirement for the year 2017-2018

Single Stage one envelop procedure. Daily Newspapers published in Daily News, Akhbarenau (Urdu),

Bakhar (sindhi), Latest News (Urdu) as well in SPPRA web site

3 Nos.

3 Nos.

12/10/2017

8 Technical Bid Opening Date 9 No. of Bid Technically Qualified 3 Nos. 10 Bid Rejected No any Bid rejected Financial Bid Opening Date 12/10/2017 11 Ranking Reasons for

S.#	Name of Firm / Bidder	by the Bidders	in Terms of Cost	Estimate	Acceptance / Rejection	Remarks
1	2	3	4	5	6	7
1	Mr. Goind Ram	29990425/-	1 st	Within Estimate Cost	1 st Lowest	Lowest Hence Accepted
2	M/S Shahbaz Construction Co:	30845500/-	2 nd	Higher rate quoted	2 nd Lowest	Rejected
3	M/S Data Enterprises	31213225/-	3 rd	Highest rate quoted	Higher	Rejected

MEMBER

MEMBER

(Asif Masood Memon) **Deputy Director** National Highway Authority Hyderabad

DIRECTOR Mass Canal Area Water Board (SIDA) MIRPURKHAS

CHAIRMAN

(Ashfague Nooh Memon) **Executive** Engineer Thar Division Mirpurkhas

(Shoaib Ahmed Sugrio) **Executive Engineer Drainage Division** Mirpurkhas

mical Officer Sindh Irriga on & Drainage Authority

igation & Drainage Authority Sindl. (

NIT No.SKP/G-148/TD/1052 dated: 14/09/2017 (Farash Sub Division).

Method and Procedure of Procurement:

Open Competitive Bidding (National Competitive Bidding) (Single stage one envelope).

Description of work:

(Package No.2) Engaging of Machinery Likewise Tractor Trolley dully filled with earth and provided at site of work Excavator Chain Type / Wheel Type & Tractor with front & rear blade on hire charges basis i/c POL for execution of widening / deweeding work, raising & strengthening banks filling depression & strengthening, & De-silting work at Main Canals and at distries / re-sectioning of distries as mentioned in the Technical sanctioned as per site requirement for routine and for emergency requirement for the year 2017-2018

Name of Bidder:

Mr. Goind Ram

BIDDERS ELIGIBILITY / QUALIFICATION REPORT

Eligibility / Qualification Criteria:

S.#	Eligibility / Qualification Criteria	Mr. Goind Ram	M/S Shahbaz Construction Co:	M/S Data Enterprises
	Registration with PEC (if applicable)	Yes	Yes	Yes
2	NTN	Yes	Yes	Yes
3	Registration with Tax Authorities	Yes	Yes	Yes
	Qualification Criteria			
14	Minimum three years' experience of relevant field	Yes	Yes	Yes
5	Required Bid Security is attached	Yes	Yes	Yes
6	Qualified / Disqualified	Qualified	Qualified	Qualified

Member

(Asif Masood Memon)

Deputy Director National Highway Authority

Hyderabad

Chairman

(Ashfaque Nooh Memon) **Executive Engineer**

Thar Division

Mirpurkhas

Member

(Shoaib Ahmed Sugrio) **Executive Éngineer Draiange Division**

Mirpurkhas

Comprative Statement

Comprative Statement Showing the Comprassion of Rates for (Package No.3) Procurement of Gate Gearing works i/c Oiling and Greasing along Regulator Gates and Repair for the year 2017-2018 Farash Sub Division

						RATE C	QUOTED	BY THE	CONTRA	CTORS.			
	Ą				1st			2nd	-	1	3rd		
S#	Particular		Qty	Mr. I	Mr. Najam-u		Mr.	Mr. Goind Ram			Mr. Basheer Ahmed Chandio		
				Rate	Unit	Amount	Rate	Unit	Amount	Rate	Unit	Amount	
	(Package No.3) Procurement of Gate Gear works i/c Oiling and Greasing along Regu Gates and Repair for the year 2017-2018					,							
1	Supp: & fix: Sheet 8mm		150 Kgs	195	P/Kg	29250	200	P/Kg	30000	250	P/Kg	37500	
2	Supplying M/S Angle Iron Size 1.1/2" x 1	.1/2"	40 Kgs	170	P/Kg	6800	190	P/Kg	7600	225	P/Kg	9000	
3	Supplying M/S Angle Iron Size 2" to 2"		45 Kgs	185	P/Kg	8325	195	P/Kg	8775	250	P/Kg	11250	
4	Supplying M/S Angle Iron Size 3" to 3"		100 Kgs	190	P/Kg	19000	200	P/Kg	20000	260	P/Kg	26000	
5	Supplying M/S Angle Iron Size 3".5 x 3".	5	90 Kgs	195	P/Kg	17550	200	P/Kg	18000	230	P/Kg	20700	
6	Supplying M/S Angle Iron Size 4"x 4"		100 Kgs	215	P/Kg	21500	220	P/Kg	22000	235	P/Kg	23500	
7	Supplying M/S Angle Iron Size 6" x 3" (1/4, 3/8,1/2)		50 Kgs	200	P/Kg	10000	250	P/Kg	12500	300	P/Kg	15000	
8	Supplying Channel (3"x1.5")		40 Kgs	180	P/Kg	7200	185	P/Kg	7400	200	P/Kg	8000	
9	Supplying Channel (4"x2",5"x2.5")		60 Kgs	195	P/Kg	11700	200	P/Kg	12000	220	P/Kg	13200	
10	Supplying Channel (6"x3")		80 Kgs	210	P/Kg	16800	225	P/Kg	18000	250	P/Kg	20000	
11	Supplying Channel (7"x3")		70 Kgs	200	P/Kg	14000	215	P/Kg	15050	240	P/Kg	16800	
12	Supplying Channel (8"x3")		60 Kgs	208	P/Kg	12480	220	P/Kg	13200	250	P/Kg	15000	
13	Supplying C.I Roller 19"x4" to 20'x4"		6 Nos	17600	Each	105600	17700	Each	106200	17850	Each	107100	
14	Supplying Pin for Wire Rope 1.5" Aps	0	4 Nos	575	Each	2300	590	Each	2360	650	Each	2600	

Mr

w.

		14	4		RATE C	UOTED	BY TH	CONTRA	CTORS.		4 -3	
		-14		1st			2nd	* v		3rd		
S#	Particular	Qty		Qty Mr. Najam-ul-Din			Mr. Goind Ram			Mr. Basheer Ahmed Chandio		
			Rate	Unit	Amount	Rate	Unit	Amount	Rate	Unit	Amount	
15	Supplying Roller Shaft 2"x2".5	4 Nos	7650	Each	30600	7690	Each	30760	9800	Each	39200	
16	Supplying Roller Shaft 2"x4"	4 Nos	9180	Each	36720	10000	Each	40000	10550	Each	42200	
17	Supplying Roller Shaft 2"x 2 ¹ .6"	4 Nos	8550	Each	34200	8600	Each	34400	8780	Each	35120	
18	Supplying C.I Pully Shaft 2"x 2.5" dia	4 Nos	5250	Each	21000	5350	Each	21400	5400	Each	21600	
19	Supplying C.I Pully Shaft 2"x3" dia	8 Nos	5750	Each	46000	5780	Each	46240	5980	Each	47840	
20	Supplying C.I Bevel Gear 16"	4 Nos	5600	Each	22400	5750	Each	23000	5820	Each	23280	
21	Supplying Pinon Gear	4 Nos	4200	Each	16800	4500	Each	18000	4800	Each	19200	
22	Supplying Plumbing Block	6 Nos	4500	Each	27000	5000	Each	30000	5200	Each	31200	
23	Supplying Screw Rod 2" dia	20 Rft	2100	P/Rft	42000	2200	P/Rft	44000	2400	P/Rft	48000	
24	Supplying Screw Rod 3" dia	20 Rft	2400	P/Rft	48000	2450	P/Rft	49000	2560	P/Rft	51200	
25	Supplying Brass Nut 2" dia	4 Nos	4500	Each	18000	4560	Each	18240	4600	Each	18400	
26	Supplying Brass Nut 2.5" dia	6 Nos	5200	Each	31200	5300	Each	31800	5500	Each	33000	
27	Supplying Brass Nut 3" dia	6 Nos	6000	Each	36000	6200	Each	37200	6500	Each	39000	
28	Supplying Bottom Bracket 2" dia	4 Nos	1300	Each	5200	1380	Each	5520	1400	Each	5600	
29	Supplying Bottom Bracket 3" dia	4 Nos	1600	Each	6400	1650	Each	6600	1800	Each	7200	
30	Supplying Top Plate 10" x 10"	4 Nos	6250	Each	25000	6350	Each	25400	6500	Each	26000	
31	Supplying Top Bracket 2" x 2.5 dia	6 Nos	6000	Each	36000	6250	Each	37500	6500	Each	39000	
32	Supplying Top Bracket 2" x 3" dia	4 Nos	6200	Each	24800	6300	Each	25200	6450	Each	25800	
33	Supplying Wheel Handle	4 Nos	6500	Each	26000	7000	Each	28000	7670	Each	30680	

Mr.



78000		C VALUE OF STREET	RATE QUOTED BY THE CONTRACTORS.										
			2 - V - B-1	1st			2nd	э.	3rd				
S#	Particular	Qty	Mr.	Najam-u	I-Din	Mr. Goind Ram			Mr. Basheer Ahmed Chandio				
			Rate	Unit	Amount	Rate	Unit	Amount	Rate	Unit	Amount		
34	Supplying MS Nut & Bolts off size	80 Kgs	275	P/Kg	22000	290	P/Kg	23200	320	P/Kg	25600		
35	Supplying MS Washer	60 Kgs	190	P/Kg	11400	200	P/Kg	12000	225	P/Kg	13500		
36	Supplying Oxygen Gas	100 Cums	125	P/Cum	12500	140	P/Cum	14000	160	P/Cum	16000		
37	Supplying D-Acetylene Gas	72 Cums	675	P/Cum	48600	685	P/Cum	49320	700	P/Cum	50400		
38	Labour Charges of Reparing the gate	10 Days	5000	P/Day	50000	5250	P/Day	52500	6000	P/Day	60000		
	TOTAL:-				960325			996365			1074670		

Certified that the entries incorporated in the comparative statement individually have been made correctly. The rates quoted by Mr. Najam-ul-Din Government Contractor are lowest and reasonable.

The Lawst erats above to Rs. 10001-below to Rs: -1000/- are hereby approved exect of Lawst rates above to Rs. 10001-

DIRECTOR

Hata Canal Area Water Board (SIDA

MIRPURKHAS

(Asif Masood Memon) **Deputy Director National Highway Authority**

Hyderabad

Member

Chairman

(Ashfaque Nooh Memon)

Executive Engineer

own rates quity the bolding That Division

Scholule of value

Draiange Division Mirpurkhas

(Shoaib Ahmed Sugrio)

Executive Engineer

Member

BID EVALUATION REPORT

V, 2	Name of Procuring Agency	Executive Engineer Thar Division Mirpurkhas
2	Tender Reference No.	Invitation of Bid No.SKP/G-148/TD/1052 dt:14/09/2017 and Corrigendum issued vide No.SKP/G-148/TD/1105
		dated:28/09/2017 Farash Sub Division (Sr.#34450)
3	Name of work / Package	(Package No.3) Procurement of Gate Gearing works i/c Oiling and Greasing along Regulator Gates and Repair for the year 2017-2018.
4	Method of Procurement	Single Stage one envelop procedure.
5	Tender Published	Daily Newspapers published in Daily News, Akhbarenau (Urdu), Bakhar (Sindhi), Latest News (Urdu) as well in SPPRA web site
6	Tender Bid Documents Sold	3 Nos.
7	Total Bid Received	3 Nos.
8	Technical Bid Opening Date	12/10/2017
9	No. of Bid Technically Qualified	3 Nos.
10	Bid Rejected	No any Bid rejected
11	Financial Bid Opening Date	12/10/2017

S.#	Name of Firm / Bidder	Cost offered by the Bidders	Ranking in Terms of Cost	Comparison with Estimate	Reasons for Acceptance / Rejection	Remarks
1	2	3	4	5	6	7
1	Mr. Najam-ul-Din	960325/-	1 st	Within Estimate Cost	1 st Lowest	Lowest Hence Accepted
2	Mr. Goind Ram	996365/-	2 nd	Higher rate quoted	2 nd Lowest	Rejected
3	Mr. Basheer Ahmed Chandio	1074670/-	3rd	Highest rate quoted	Higher	Rejected

MEMBER

CHAIRMAN

(Ashfague Nooh Memon)

Executive Engineer Thar Division Mirpurkhas

(Asif Masood Memon) **Deputy Director National Highway Authority** Hyderabad

DIRECTOR

asa Canal Area Water Board (SIDA) MIRPURKHAS.

Keepmmonaea

(Shoaib Ahmed Sugrio) **Executive Engineer Drainage Division**

MEMBER

Mirpurkhas

Technical Officer Sindh Irriga on & Drainage Authority

Sindh Irrigation & Drainage Authority

ATTENDENCE SHEET

It is certified that the works of NIT No. SKP/G-148/TD/1052 dated: 14/09/2017 Division) opened on 12/10/2017 at 12:00. (Farash Sub Division) opened on 12/10/2017 at 13:00 hours in Thar Division Mirpurkhas before

sn sub br	non) opened on 12/10/2017 at 13:00 nours on the state of Procurement Committee and Bidders Name / Designation	Signature
	Name / Designation	
1.	CHAIRMAN (Ashfaque Nooh Memon) Executive Engineer Thar Division Mirpurkhas	A Min
2.	MEMBER (Asif Masood Memon) Deputy Director National Highway Authority Hyderabad	nig booder
3.	MEMBER (Shoaib Ahmed Sugrio) Executive Engineer Drainage Division Mirpurkhas	
4		Aboli llah.
	ABDULLAH MAHAR Government COntractor	
5.	Basheer Ahmed Chandle Government Contractor Hyderabad.	zani M
6.	M/S RASHID ALI Govt: Contractor & General Order Supplier	Rashing.
7.	GOIND RAM Government Contractor Sanghar	Junella.
8.	Outa Enterprises Government Contracts Sanghar.	White the same of
9.	KIRAN CONSTRUCTION COMPANY & BUILDERS KHIPRO DISTT: SANGHAR	Lysh.

S.No.	Name / Designation	Signature
10.	RASHEED AHMED Government Contractor & General Order Supplier	Kunte
11.	Azizullah Panhyar Govt: Contractor	(1) Jul
12.	M/s Shahbaz Construction Co: Government Contractor Hyderabad.	dulle
13.	Akhtar Hussain Shah Govt. Contractor	3100
14.	M/S NAJAMUDDIN GOVT: CONTRACTOR	ني الآن
15.		

MINUTES OF MEETING FOR OPENING OF BIDS FOR (M&R) WORKS

A meeting was held on 12/10/2017 in the office of the Executive Engineer Thar Division Mirpurkhas for opening the bids of NIT No.SKP/G-148/TD/1052 dated:14/09/2017 (Farash Sub Division) as per single stage one envelope procedure and the date of opening of bids was extended vide Corrigendum No.SKP/G-148/TD/1105 dated: 28/09/2017, the NIT consists of six packages.

The Bids were opened on 12/10/2017 at 13:00 hours in presence of Procurement Committee and the contractors

The details of packages / works and participants & their bid cost are given below.

Package No.	Name of works / Packages	Name of Contractors	Bid Cost	
1.	Procurement of Abkalani Material for the year 2017-2018	1.Syed Akhtar Hussain Shah	987575/-	
		2.Mr. Goind Ram	1036275/-	
		3.Mr. Rasheed Ahmed Soomro	1126925/-	
2.	Engaging of Machinery Likewise Tractor Trolley dully filled with earth and provided at site of work Excavator Chain Type / Wheel	1.Mr. Goind Ram	29990425/-	
		2.M/S Shahbaz Construction Co:	30845500/-	
	Type & Tractor with front & rear blade on hire charges basis i/c POL for execution of widening / deweeding work, raising & strengthening banks filling depression & strengthening, & De-silting work at Main Canals and at distries / re-sectioning of distries as mentioned in the Technical sanctioned as per site requirement for routine and for emergency requirement for the year 2017-2018	3.M/S Data Enterprises	31213225/-	
3.	Procurement of Gate Gearing works i/c Oiling and Greasing along Regulator Gates and Repair for the year 2017-2018.	1.Mr. Najam-ul-Din	960325/-	
		2.Mr. Goind Ram	996365/-	
		3.Mr. Basheer Ahmed Chandio	1074670/-	
4.	Procurement of Closure Material for the year 2017-2018.	1.M/S Kiran Construction Co: & Builders	969200/-	
		2.Mr. Abdullah Mahar	990480/-	
		3.M/S Data Enterprises	1022930/-	
5.	Engaging of vehicle likewise Dumper Dozer,	1.Mr. Azizullah Panhyar	994125/-	
	Datsun Pickup on hire charges basis i/c POL Driver etc for the year 2017-2018.	2.Mr. Basheer Ahmed Chandio	1034800/-	
		3.M/S Kiran Construction Co: & Builders	1070000/-	

Package No.	Name of works / Packages	s / Packages Name of Contractors	
6.	Supplying and fixing APM Modules of different type along Main Canal & Channels	1.Mr. Rasheed Ahmed Soomro 2.Mr. Goind Ram	980000/-
	for the year 2017-2018.	3.M/S Data Enterprises	987200/- 990000/-

MEMBER

MEMBER

CHAIRMAN

Asif Masood Memon
Deputy Director
National Highway Authority
Hyderabad

Ashfaque Nooh Memon Executive Engineer Thar Division Mirpurkhas Shoaib Ahmed Sugrio
Executive Engineer
Drainage Division
Mirpurkhas